Montageanleitung

WL IF

Schwebstoff-Filterteil CFL- 10-32
Montagesets
CFL 10:

Nr. Anzahl [Bauteil Bemerkung Material-Nr.
1 1 Schwebstofffilter H13 CFL 10 1669219
2 4 Bohrschraube 4,8x60 3490460
3 2 Aufhéngewinkel 6219840
4 4 Sechskantschraube M6x16 3410002
5 4 Sechskantmutter M6 3490246
6 4 Facherscheibe DIN 6798-A 6,4 3440011
7 4 Abstandshalter 3413012
8 4 Sechskantschraube M8x50 3410028
9 4 Sechskantmutter M8 3420002
10 4 Haltewinkel 6219836
11 4 Flugelmutter M6 3440206

CFL 15:

Nr. Anzahl [Bauteil Bemerkung Material-Nr.
1 1 Schwebstofffilter H13 CFL 15 1669220
2 4 Bohrschraube 4,8x60 3490460
3 2 Aufhéngewinkel 6219840
4 4 Sechskantschraube M6x16 3410002
5 4 Sechskantmutter M6 3490246
6 4 Facherscheibe DIN 6798-A 6,4 3440011
7 4 Abstandshalter 3413012
8 4 Sechskantschraube M8x50 3410028
9 4 Sechskantmutter M8 3420002
10 4 Haltewinkel 6219836
11 4 Flugelmutter M6 3440206

CFL 22:

Nr. Anzahl [Bauteil Bemerkung Material-Nr.
1 1 Schwebstofffilter H13 CFL 22 1669221
2 8 Bohrschraube 4,8x60 3490460
3 2 Aufhéngewinkel 6219840
4 4 Sechskantschraube M6x16 3410002
5 4 Sechskantmutter M6 3490246
6 4 Facherscheibe DIN 6798-A 6,4 3440011
7 4 Abstandshalter 3413012
8 4 Sechskantschraube M8x50 3410028
9 4 Sechskantmutter M8 3420002
10 4 Haltewinkel 6219836
11 4 Flugelmutter M6 3440206

Wolf GmbH 84048 Mainburg Postfach 1380 Tel. 08751/74-0 Fax 08751/741600

Internet www.wolf-heiztechnik.de

Art.-Nr. 30 64 391 Anderungen vorbehalten

-1-

04/15



Montageanleitung

Schwebstoff-Filterteil CFL- 10-32
CFL 32

Nr. Anzahl [Bauteil Bemerkung Material-Nr.
1 1 Schwebstofffilter H13 CFL 32 1669222
2 10 Bohrschraube 4,8x60 3490460
3 2 Aufhéngewinkel 6219840
4 4 Sechskantschraube M6x16 3410002
5 4 Sechskantmutter M6 3490246
6 4 Facherscheibe DIN 6798-A 6,4 3440011
7 4 Abstandshalter 3413012
8 4 Sechskantschraube M8x50 3410028
9 4 Sechskantmutter M8 3420002
10 4 Haltewinkel 6219836
11 4 Flugelmutter M6 3440206

Wolf GmbH 84048 Mainburg Postfach 1380 Tel. 08751/74-0 Fax 08751/741600

Internet www.wolf-heiztechnik.de

Art.-Nr. 30 64 391

Anderungen vorbehalten

04/15




Montageanleitung
Schwebstoff-Filterteil CFL- 10-32

Wolf GmbH 84048 Mainburg Postfach 1380 Tel. 08751/74-0 Fax 08751/741600 Internet www.wolf-heiztechnik.de

Art.-Nr. 30 64 391 Anderungen vorbehalten 04/15
-3-



Montageanleitung
Schwebstoff-Filterteil CFL- 10-32

Wolf GmbH 84048 Mainburg Postfach 1380 Tel. 08751/74-0 Fax 08751/741600 Internet www.wolf-heiztechnik.de

Art.-Nr. 30 64 391 Anderungen vorbehalten 04/15
-4-



